ITEM NO.	ITEM	APPROX. QUANTITY	UNIT	UNIT PRICE	AMOUNT
203.0100	Roadway Excavation	25	Cu. Yd.	\$ 243.00	\$ 6,075.00
209.1000	Water Pollution and Erosion Control	F.A.	F.A.	F.A.	\$ 50,000.00
304.1110	Aggregate Base	30	Cu. Yd.	\$ 138.00	\$ 4,140.00
312.0100	Plant Mix Glassphalt Concrete Base Course	300	Ton	\$ 136.00	\$ 40,800.00
401.0400	Asphalt Concrete Pavement, Mix No. IV	1,475	Ton	\$ 122.00	\$ <u>/79,950.00</u>
401.0500	Asphalt Concrete Pavement, Mix No. V	25	Ton	\$ <u>346.00</u>	\$ 8,650.00
604.4241	Adjusting Grated Drop Inlet No. 1	1	Each	\$ 5,270.00	\$ 5,270.00
604.4242	Adjusting Grated Drop Inlet No. 2	1	Each	\$ 2,790.00	\$ <u>2,790.00</u>
604.4550	Adjusting Water Valve Box Frame and Cover	12	Each	\$ 1,070.00	\$ 12,840.00
613.0110	Centerline and Reference Survey Monument	4	Each	\$ 1,475.00	\$ <u>5,900.00</u>
613.0120	Adjusting Centerline and Reference Survey Monument	3	Each	\$ 233.00	\$ 699.00
621.4121	Reflector Marker (RM-2) with Flexible Delineator Post	9	Each	\$ <u>96</u> .00	\$ 864.00
621.4130	Reflector Marker (RM-3)	31	Each	\$ 17.00	\$ 527.00
621.4701	Type II Object Marker	22	Each	\$ 45.00	\$ <u>990.°</u>
621.5100	Regulatory and Warning Sign (10 Square Feet or Less)	4	Each	\$ 118.00	\$ 472.00
621.5200	Regulatory and Warning Sign (10 Square Feet or Less) with Post	15	Each	\$ <u>270.</u>	\$ 4,050.00

580A-01-01M 6/18/01 P-9

		APPROX.			
ITEM NO.	ITEM	QUANTITY	UNIT	UNIT PRICE	AMOUNT
621.5300	Regulatory and Warning Sign (Greater than 10 Square Feet) with Two Posts	2	Each	\$ 687.00	\$ 1,374.00
621.7110	Construction Sign with Two Posts	4	Each	\$ 830.00	\$ <u>3,320.∞</u>
621.7601	Mile Post Marker (Bi-directional) with Post	2	Each	\$ 225.00	\$ <u>450.00</u>
629.1011	4-Inch Pavement Striping (Tape, Type I or Thermoplastic Extrusion) (1,150 L.F.)	L.S.	L.S.	L.S.	\$ <u>1,690.</u>
629.1024	12-Inch Pavement Striping (Tape, Type III or Thermoplastic Extrusion) (190 L.F.)	L.S.	L.S.	L.S.	\$ <u>1,240.00</u>
629.1025	Double 4-Inch Pavement Striping (Tape, Type I or Thermoplastic Extrusion) (2,200 L.F.)	L.S.	L.S.	L.S.	\$ <u>3,380.00</u>
629.2040	Type D Pavement Marker (176 Each)	L.S.	L.S.	L.S.	\$ 1,015.00
629.2080	Type H Pavement Marker (30 Each)	L.S.	L.S.	L.S.	\$ 565.00
629.2090	Type J Pavement Marker (248 Each)	L.S.	L.S.	L.S.	\$ 1,690.00
645.2000	Additional Police Officers and/or Additional Control Devices	F.A.	F.A.	F.A.	\$ 25,000.00
651.0100	Excavation for Reconstruction of Weakened Pavement Areas	140	Cu. Yd.	\$ (22.00	\$ 17,080.00
652.1000	Cold Planing	750	Sq. Yd.	\$ 27.00	\$ 20,250.00
699.1000	Mobilization (Not to Exceed 10% of the Sum of All Items Excluding the Bid Price of This Item and Force Account Items	L.S.	L.S.	L.S.	\$ <u>29,000.00</u>

580A-01-01M 6/18/01 P-10

ITEM NO.	ITEM	APPROX. QUANTITY	UNIT	UNIT PRICE	AMOUNT
	SUM OF ALL ITEMS			\$ _4	30,071. <u>00</u>
	NOTE: Bidders must complete all unit prices and amounts	. Failure to do	so may be	grounds for reje	ction of bid.
B0A-01-01M			-		
/18/01 -11					

The bidder is directed to Subsection 108.01 - Subletting of Contract.

The bidder's attention is directed to Section 699 - Mobilization for the limitation of the amount bidders are allowed to bid.

If the bid price for any proposal item having a maximum allowable bid indicated therefor in any of the contract documents is in excess of such a maximum amount, the bid price for such proposal item shall be adjusted to reflect the limitation thereon. The comparison of bids to determine the successful bidder and the amount of contract to be awarded shall be determined after such adjustments are made, and such adjustments shall be binding upon the bidder.

The bidder is directed to Subsections 106.12 - Recycling of Waste Glass and 106.13 - Ordering of Certain Material.